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Time : 11 Hours : _ - Maximum Marks : 50 -

Answer ALL questions.

Each question carries equal marks.

- (50 x 1 =50)

1. . The concept of financial management is
(A) Profit maximization '
. (B) All features of obtaining and using financial resources for company operations
(C) Organization of funds | ‘ |
(D) - Effective Management of every company .

' 2. The primary goal of financial management is
@A) To minimise the risk ' 8
(B) To maximise the owner’s wealth
(C) To maximise the return '
(D) To raise profit

3. The Finance Manager is ac’countable for
(A) Earning capital assets of the company
(B) - Effective rrianagement of afund
(C) Arrangement of financial resources
(D) P.roper utilisation of funds
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4, Future Value of annuity is
(A) Equal to Annuity Amount (B) Lessthan 'Ahn_uity Amount
(C) Compound value Annuity Factor * (D) None of the above

5. | Fine&lcial Plarining deals with
(A) Preparation of Financial State‘nient‘s
(B) Planning for a Capitai Issue
(C) Preparing Budgets
(D) All of the above

6. Financial planning starts with the preparation of
'(A)l Master Budget o ' (B) Cash Budget
(©) Balancve Sheet - . (D) Sales budget

7.  Process of Financial Planning ends With
(A) Prepva‘ration of Projected Statements
. (B) Preparation of Actual Statenients
(C) Comparison of Actual with Projected
(D) Ordering the employees that projected figures come true

8. : _maximization objeétivevignores the timing ‘of benefit i.e time value of
money.
(A) Sales ~ (B) Commission
(C) Value K D) Proﬁt—and wealth
9. The financial management function has ‘be,c‘ome and complex.
(A) Less demanding (B) More demanding | . |
(C) Less important - ' (D) Outdated
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10.

11,

12.

13,

14.

15.

.'Tlme value of money indicates that ‘

future

- (A) A unit of money obtalned today is Worth more than a umt of money obtamed in

®B) A unit of money obta1ned today is worth Iess than a unlt of money obtained in

future

(C) There is no difference in the value of money obtamed today and tomorrow

‘(D) None of the above

The following is one of the measure of Debt Service capacity of a firm

(A) Current Ratio (B) Acid Test Ratio

(C) Interest Coverage Ratio ' D) Debtors Turnover

Gross Profit Ratio for a firm remains same but the Net Proﬁt Ratlo is decreasing. The

reason for such behavior could be

(A) Increase in Costs of Goods Sold ‘(B) ,_Increase in Expense |

(C) Increase in Dividend : (D) Decrease in Sales

Which of the following statements is correct? _

(A) A higher receivable turnover is not desirable

(B) Interest coverage ratio depends upon tax rate

(© Increase in net profit ratio means increase n sales

(D) Lower debt- equlty ratlo means lower financial risk

In cash flows, when a company invests in fixed assets and short-term financial

investments results in

‘(A) Increased Equity = ' (B) Increased Liabilities

(C) _ Decreased Cash (D) Increased Cash

As per Accounting Standard-3, Cash Flow is classiﬁed’ into
(A) Operating activities and investing activities

‘ (B) Investing activities and'ﬁnancing activities

(C) Operating activities and financing activities

3

(D) Operating act1v1t1es financing act1v1t1es and investing act1v1t1es
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16.

of the cash flow generated by the firm’s operatlons 1nvestments and

- financial activities.

| (A) The balance sheet is a report

17.

18.

(B) The income statement is a report
(C) The statement of cash flows is a report -

(D) The auditor’s statément of financial condition.

Fund‘s flow statement is based on the concept of-
(A) Going concern - (B) Business entity
(C) Accounting period - (D) None of the above

Capital ‘bndgeting 1s the process
(A) Which help to make master budget of the organization

o (B) By which the firm decides how miuch capital toinvest in business

19:

20.

21.
- their contr1but10n of fund is known as
. (A) Cost of capital (B) Payoffs

 (C) Both of the above (D) None of the above

292,

(C) By which the f1rm decides which long-term investments to make

(D) Undertaken to analyze how make ava11able various finance to the busmess -

Which of the following represents the amount of time'. that it takes for a capital
budgeting project to recover its initial cost? '

(A) Maturity period - - ® Payback per1od
(C) Redemption period : ' .(D) Investment period

Capital budgeting decisions are analyzed with help of welghted average and for this

' purpose — 1s used. ,
(A) Component cost ~ (B) Common stock value
(C) Cost Qf capital ()] Asset valuation

The minimum rate of return that suppliers of cap1ta1 expect as the compensation for

The annual rate of return that an investor expects to earn from the investment in -
shares of a company is known as ‘ .

. (A) Cost of equity B o (B) Cost of debt

(C) Cost of retaining.earning (D) None of the above
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23

24..

25.

26.

217.

28.

29.

The cost of eapita.l is the cost from - perspective. |
(A) Fund provider ? (B) Fund raiser
(C) Both of the above (D) None of the above

In which of the following method cost of equity capltal 1s computed by d1v1d1ng the
dividend by market price per share or net proceeds per share?.

"-(A) Price Earning Method _(B) Adjusted Price Method

(C) Adjusted Dividend Method (D) Dividend Yield Method

Cost of capital is equal to required return rate on equity in case if investors are only

(A) ) Valuation Manager ' (B) Cemmon Stockholders .
(C) Asset Seller L (D) Equity Dealer

Which of the following method of cost of equlty is similar to the d1V1dend price
approach? _

(A) D1scounted Cash Flow (DCF) method
(B) Capital asset prlclng model .

(C) Price earning method

(D) After tax equity method -

For which of the following costs is it generally necessary to apply a tax adjustment to a
yield measure? - ' o : '

(A) Cost of debt - . (B) Cost of preferred stock

(C) Cost of common equity - (D) Cest of retained earnings

- Which of the followin_g risk can be eliminated by an investor?

(A) Diversifiable risk | - (B) Non-diversifiable risk
(C) Both (A) and (B) D) Neither.(A) nor (B)

The term ‘EVA’is used for

(A) Extre Value Analysis =~ = -~ (B) Economic Value Added
(&) Expected Value Analysis o (D) Engineering Value Analysis 4
5 - : [Turn over
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30. A ﬁrm"s overall cost of equity is
B (A) generally less that the firm’s WACC
~ (B) unaffected by changes in the market risk premium
© (C) highly dependent upon the growth rate and nsk level of the ﬁrm
(D) generally less than the firm’s after tax cost of debt

31. What are the aspects of working capital management?

(A) Inventory mahagement ' (B) Receivable management
(C) Cash management - : D) All of the above
- 32. — cycle analyzes the accounts receivable, 1nventory, and accounts payable
~ cycles in terms of a number of days. :
(A Business = - (B Current asset
(C) Operation L (D) Operating

33. Operating cycle is also called as . , _
- (A) Business cycle - , : (B) - Working capital cycle

- (C)  Working cycle - : _. (D) Current asset cycle
34. — . working Cabital refers to the firm’s investment in current assets.
- (A) Zero - _ (B) Net -
(C) Gross. | “ (D) Distinctive

35. Working capital is calculated as
(A) Core current assets less core current 11ab111t1es
(B) Current assets less current liabilities
(C) Core current assets less current liabilities

| (D) Liquid assets less current liabilities
36. Wdrking Capital Turnovér measures the relationship of Working Capital With :

(A fixed assets - : | (B) sales
(C) purchases "~ (D) stock
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317.

38,

39.

40.

41.

42.

The capital which is needed to meet the seasonal requirements of the business

(A) Gross Working Capital

(B) Reserve Margin Working Capital
(C) Net Working Capital

(D)- Fluctuating Working Capifal

Which of the following method is not used for calculating working capital ;:ycle'?

(A) Percentage of sales method

-~ (C) Operating cycle approach

Negative’ working capital means that

(B) Regression analysis method
(D) Trial and error method

(A) The company has no current assets at all

(B)' The company currently is unable to meet its short-term liabilities

(C) The coin,p’any has negative earnings before interest and tax

(D) The company currently is able to meet its short-term 1iabilities

Current assets are those assets

(A) Which can be sold by the companies

(B) Which are less important fr}om' production angle

(C) * Which are held by the companies to pay-off current liabilities

(D) Which are converted into cash within a period of one year

agents, practices, markets claims etc.

(A) Financial intermedi{ary

(C) Financial system

'is a set of complex or closely connected or intermixed institutions,

t

(B) Financial company -
(D) None of these

Bonds, bearer debenture, government securities are the example for

- (A) Non marketable asset

(C) Primary asset

B) Marketable asset
: ‘_(D) Secondary asset
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43.

44,

45.

46.

- 47.

48.

49.

50.

Market for short term funds usually for one year is called

(A) Capital market (B)
(C) Primary market _ (D)

A) 1999 (B)

(C) 1945 - o (D)

Money market instruments consist of
(A) CD’s ' B)

(© MMMFS (D)

SEBI was established in the year
(A) 4t April 1982 - ®
(C) 4th June 1992 (D)

Money market

Secondary market By

'FEMA was passed by the Govt of India in the year

1946
1948

CP’s
All of these

4th April 1992
4th June 1993

Government securities market also called =~

(A) industrial securities o (B)
(C) MM securities » : - (D)
ETF stands for

(A) Exchange Traded Funds (B)
(C) Exchange Traded Forms | D)

The apex authority of insurance industry is

(A) IBRD A . ®)

(C) RBI | )}

BSE index is also called h

(A) SENSEX - ®)

- © NASDAQ D)

guilt edged securities

capital securities

Exchange Traded Facﬂity

- Exchange Traded Finance

IRDA
LIC

- NIFTY

None of these
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